
13

PIPE CLAMPS - HEAVY SERIES ORDER CODES - COMPONENTS

according to DIN 3015, Part 2

MATERIAL & SURFACE FINISHING CODE
(ALL DISPLAYED OPTIONS ARE STANDARD DELIVERY)

ORDERING INFORMATION

O.D.  OF PIPE /
TUBE / HOSE 

IN MMS
TA

U
FF

G
R

O
U

P

NOMINAL 
BORE PIPE 

IN INCHD
IN

G
R

O
U

P

O.D.  OF PIPE /
TUBE / HOSE 

IN INCH

3S

4S

5S

6S

7S

8S

9S

10S

11S

1

2

3

4

5

6

7

8

9

6 3006 ✱✱✱
6,4 1/4 3006,4 ✱✱✱
8 5/16 3008 ✱✱✱
9,5 3/8 3009,5 ✱✱✱

10 1/8 3010 ✱✱✱
12 3012 ✱✱✱
12,7 1/2 3012,7 ✱✱✱
13,5 1/4 3013,5 ✱✱✱
14 3014 ✱✱✱
15 3015 ✱✱✱
16 5/8 3016 ✱✱✱
17,2 3/8 3017,2 ✱✱✱
18 3018 ✱✱✱
19 3/4 4019 ✱✱✱
20 4020 ✱✱✱
21,3 1/2 4021,3 ✱✱✱
22 7/8 4022 ✱✱✱
25 4025 ✱✱✱
25,4 1 4025,4 ✱✱✱
26,9 3/4 4026,9 ✱✱✱
28 4028 ✱✱✱
30 4030 ✱✱✱
30 5030 ✱✱✱
32 11/4 5032 ✱✱✱
33,7 1 5033,7 ✱✱✱
35 5035 ✱✱✱
38 11/2 5038 ✱✱✱
40 5040 ✱✱✱
42 11/4 5042 ✱✱✱
38 11/2 6038 ✱✱✱
42 11/4 6042 ✱✱✱
44,5 13/4 6044,5 ✱✱✱
48,3 11/2 6048,3 ✱✱✱
50,8 2 6050,8 ✱✱✱
55 6055 ✱✱✱
57 21/4 6057 ✱✱✱
60,3 2 6060,3 ✱✱✱
63,5 21/2 6063,5 ✱✱✱
65 6065 ✱✱✱
70 23/4 6070 ✱✱✱
65 7065 ✱✱✱
70 7070 ✱✱✱
73 27/8 21/2 7073 ✱✱✱
75 7075 ✱✱✱
76,1 3 21/2 7076,1 ✱✱✱
80 7080 ✱✱✱
82,5 31/4 7082,5 ✱✱✱
88,9 31/2 3 7088,9 ✱✱✱
88,9 31/2 3 8088,9 ✱✱✱

100 8100 ✱✱✱
102 31/2 8102 ✱✱✱
108 41/4 8108 ✱✱✱
114 4 8114 ✱✱✱
127 5 8127 ✱✱✱
133 51/4 8133 ✱✱✱
133 51/4 9133 ✱✱✱
140 5 9140 ✱✱✱
152 6 9152 ✱✱✱
159 61/4 9159 ✱✱✱
165 61/2 9165 ✱✱✱
168 6 9168 ✱✱✱
168 6 10168 ✱✱✱
177,8 7 10177,8 ✱✱✱
193,7 75/8 10193,7 ✱✱✱
216 81/2 10216 ✱✱✱
219 8 10219 ✱✱✱
219 8 11219 ✱✱✱
273 10 11273 ✱✱✱
324 12 11324 ✱✱✱
356 14 12356 ✱✱✱
406 16 12406 ✱✱✱

12S 10

CLAMP BODY
consisting of two

clamp halves

WELD PLATE FOR
SINGLE CLAMPS

SPAL

WELD PLATE FOR
DOUBLE CLAMPS

SPAS

SEE COMPONENT
PART IDENTIFICATION

3S-07S: W2
8S-12S: W1

3S-07S: W2
8S-12S: W1

SPAL 3S ✱ ✱✱

SPAL 4S ✱ ✱✱

SPAL 5S ✱ ✱✱

SPAL 7S ✱ ✱✱

SPAL 8S ✱ ✱✱

SPAL 9S ✱ ✱✱

SPAL 10S ✱ ✱✱

SPAL 11S ✱ ✱✱

SPAL 12S ✱ ✱✱

SPAS 3S ✱ ✱✱

SPAS 4S ✱ ✱✱

SPAS 5S ✱ ✱✱

SPAS 7S ✱ ✱✱

SPAS 8S ✱ ✱✱

SPAS 9S ✱ ✱✱

SPAS 10S ✱ ✱✱

SPAS 11S ✱ ✱✱

SPAS 12S ✱ ✱✱

SPAL 6S ✱ ✱✱ SPAS 6S ✱ ✱✱

✱ ✱✱,✱ ✱✱✱

OU
TS

ID
E 

DI
AM

ET
ER

S
IN

 M
M

ST
AU

FF
 G

RO
UP

 
(S

EE
 B

EL
OW

)

M
AT

ER
IA

L 
& 

DE
SI

GN
 O

F
CL

AM
P 

BO
DY

SPAS ✱✱ ✱ ✱✱

W
EL

D 
PL

AT
E 

FO
R

DO
UB

LE
 C

LA
M

PS
 

SP
AS

ST
AU

FF
 G

RO
UP

M
AT

ER
IA

L 
& 

SU
RF

AC
E

FI
NI

SH
IN

G

TY
PE

 O
F 

TH
RE

AD

SPAL ✱✱ ✱ ✱✱

W
EL

D 
PL

AT
E 

FO
R

SI
NG

LE
 C

LA
M

PS
 

SP
AL

ST
AU

FF
 G

RO
UP

M
AT

ER
IA

L 
& 

SU
RF

AC
E

FI
NI

SH
IN

G

TY
PE

 O
F 

TH
RE

AD

except DIN EN 10220

DIN EN 10220 only

ALSO AVAILABLE

Extensive range of special clamping systems and
accessories, e.g. for noise and vibration reducing installation,
for electric applications and cables or for particular mounting
purposes see pages 28 to 32

Custom designed pipe clamps (machined and injection
moulding versions) according to customer`s specifications or
based on STAUFF developments see pages 34 to 35 

Prosp_Clamps_GB_09.qxd:Prosp_Clamps_GB.qxd  30.01.2009  13:09 Uhr  Seite 12



14

PIPE CLAMPS - HEAVY SERIES ORDER CODES - COMPONENTS

according to DIN 3015, Part 2

CHANNEL RAIL
ADAPTOR 

CRA

ELONGATED WELD
PLATE FOR SINGLE

CLAMPS SPAL/DUEB

COVER PLATE FOR
SINGLE CLAMPS

DPAL

COVER PLATE FOR
DOUBLE CLAMPS

DPAS

HEXAGON
HEAD BOLT 

AS

SOCKET CAP
SCREW 

IS

STACKING
BOLT

AF

CRA 3S M ✱✱
for use with bolt M10 x 40

CRA 4S M ✱✱
for use with bolt M10 x 55

CRA 5S M ✱✱
for use with bolt M10 x 65

- - - 

- - - 

- - - 

- - - 

- - - 

- - - 

CRA 6S M ✱✱
for use with bolt M12 x 100

SPAL/DUEB 3S ✱ ✱✱

SPAL/DUEB 4S ✱ ✱✱

SPAL/DUEB 5S ✱ ✱✱

SPAL/DUEB 7S ✱ ✱✱

SPAL/DUEB 8S ✱ ✱✱

SPAL/DUEB 9S ✱ ✱✱

SPAL/DUEB 10S ✱ ✱✱

SPAL/DUEB 11S ✱ ✱✱

SPAL/DUEB 12S ✱ ✱✱

SPAL/DUEB 6S ✱ ✱✱

DPAL 3S ✱✱

DPAL 4S ✱✱

DPAL 5S ✱✱

DPAL 7S ✱✱

DPAL 8S ✱✱

DPAL 9S ✱✱

DPAL 10S ✱✱

DPAL 11S ✱✱

DPAL 12S ✱✱

DPAL 6S ✱✱

DPAS 3S ✱✱

DPAS 4S ✱✱

DPAS 5S ✱✱

DPAS 7S ✱✱

DPAS 8S ✱✱

DPAS 9S ✱✱

DPAS 10S ✱✱

DPAS 11S ✱✱

DPAS 12S ✱✱

DPAS 6S ✱✱

AS 3S M ✱✱
(M10 x 45)

AS 4S M ✱✱
(M10 x 60)

AS 5S M ✱✱
(M10 x 70)

AS 7S M ✱✱
(M16 x 130)

AS 8S M ✱✱
(M20 x 190)

AS 9S M ✱✱
(M24 x 220)

AS 10S M ✱✱
(M30 x 300)

AS 11S M ✱✱
(M30 x 450)

AS 12S M ✱✱
(M30 x 560)

AS 6S M ✱✱
(M12 x 100)

IS 3S M ✱✱
(M10 x 30)

IS 4S M ✱✱
(M10 x 40)

IS 5S M ✱✱
(M10 x 50)

- - - 

- - - 

- - - 

- - - 

- - - 

- - - 

IS 6S M ✱✱
(M12 x 80)

AF 3S ✱ ✱✱

AF 4S ✱ ✱✱

AF 5S ✱ ✱✱

AF 7S ✱ ✱✱

AF 8S ✱ ✱✱

AF 9S ✱ ✱✱

AF 10S ✱ ✱✱

- - - 

- - - 

AF 6S ✱ ✱✱

Group 3S - 6S Group 3S - 6S Group 3S - 10S

DIN 931/933 ISO 4762

3S-07S: W2
8S-12S: W1W3* 3S-07S: W2

8S-12S: W1
3S-07S: W2
8S-12S: W1 W1 W1 W2

CRA ✱✱ ✱ ✱✱

CH
AN

NE
L-

RA
IL

-
AD

AP
TO

R 
CR

A

TY
PE

 O
F 

TH
RE

AD
M

AT
ER

IA
L 

& 
SU

RF
AC

E
FI

NI
SH

IN
G

ST
AU

FF
 G

RO
UP

SPAL/DUEB ✱✱ ✱ ✱✱

EL
ON

GA
TE

D 
W

EL
D 

PL
AT

E 
FO

R 
SI

NG
LE

 C
LA

M
PS

 
SP

AL
/D

UE
B

TY
PE

 O
F 

TH
RE

AD
M

AT
ER

IA
L 

&
SU

RF
AC

E
FI

NI
SH

IN
G

ST
AU

FF
 G

RO
UP

DPAL ✱✱ ✱✱

M
AT

ER
IA

L 
& 

SU
RF

AC
E

FI
NI

SH
IN

G

ST
AU

FF
 G

RO
UP

CO
VE

R 
PL

AT
E 

FO
R 

SI
NG

LE
 

CL
AM

PS
DP

AL
 

DPAS ✱✱ ✱✱

M
AT

ER
IA

L 
& 

SU
RF

AC
E

FI
NI

SH
IN

G

ST
AU

FF
 G

RO
UP

CO
VE

R 
PL

AT
E 

FO
R 

DO
UB

LE
 

CL
AM

PS
DP

AS
 

AS ✱✱ ✱ ✱✱

M
AT

ER
IA

L 
& 

SU
RF

AC
E

FI
NI

SH
IN

G

ST
AU

FF
 G

RO
UP

HE
XA

GO
N 

HE
AD

 B
OL

T 
AS

TY
PE

 O
F 

TH
RE

AD

IS ✱✱ ✱ ✱✱

M
AT

ER
IA

L 
& 

SU
RF

AC
E

FI
NI

SH
IN

G

ST
AU

FF
 G

RO
UP

SO
CK

ET
 C

AP
 

SC
RE

W
 IS

TY
PE

 O
F 

TH
RE

AD

AF ✱✱ ✱ ✱✱

M
AT

ER
IA

L 
& 

SU
RF

AC
E

FI
NI

SH
IN

G

ST
AU

FF
 G

RO
UP

ST
AC

KI
NG

 
BO

LT
 A

F

TY
PE

 O
F 

TH
RE

AD

suitable for several 
types of channel rails,

see page 21

* zinc plated, blue chromated - Fe/Zn 8 B

Prosp_Clamps_GB_09.qxd:Prosp_Clamps_GB.qxd  30.01.2009  13:09 Uhr  Seite 13


